G6 Compare and Order Integers Revision
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i 24, Fadrous (V) was 12 minutes early to class, Dawood (D) was right on time,
o ik and Karima (K} was 3 minutes late. Which time line represents the students’
arrival 1o class?
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above sea level, & valley has an elevation checking account balance is —AED 20 Write
of —86 meters. Wite an ineguality to comparne AN inequality to compare the amounts, Explain 25. The table shows the scores at the end of a game of miniature golf.
the elevations, Explain the maaning of this the meaning of the Ineguality. The integer O represents par. Sort the ph from foweast shots takan Scoce
g sl to most shats taken =8
2
;
Fewest Shats 5
Ovdar anch sat of intagers from least 1o graatast. -
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Post Shets

23, (@) Use Mith Tools Use the bar graph and the information below

Gall Seores
The bae graph gives the scores of four golfers (A, B, C, and D). The M
numibers indicale scores above and below par. I j .
a. Order the scones on & numbar ine. e
o 234 5 &7 j =
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b Which player had the woest soone? Explain your Snswer, !
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